
 
Prove the below closed form 

𝐈 = ∫∫∫
𝒍𝒏(𝒙 + 𝒚 + 𝒛)

𝒙 + 𝒚 + 𝒛

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲

𝟏

𝟎

𝐝𝐳 = 𝟗 𝐥𝐧(𝟐) −
𝟐𝟕

𝟒
𝐥𝐧(𝟑) − 𝟑 𝐥𝐧𝟐(𝟐) +

𝟗

𝟒
𝐥𝐧𝟐(𝟑) 

Proposed by Ankush Kumar Parcha-India 

Solution by Togrul Ehmedov-Azerbaijan 

Let 𝐱 + 𝐲 + 𝐳 → 𝐦 

𝐈 = ∫∫ ∫
𝐥𝐧(𝐦)

𝐦

𝐱+𝐲+𝟏

𝐱+𝐲

𝐝𝐦

𝟏

𝟎

𝐝𝐲

𝟏

𝟎

𝐝𝐱
𝐈𝐁𝐏

=
∫ ∫

𝐥𝐧(𝐦)

𝐦

𝐱+𝟐

𝐱+𝟏

𝐝𝐦

𝟏

𝟎

𝐝𝐱 − ∫∫
𝐲𝐥𝐧(𝐱 + 𝐲+ 𝟏)

𝐱 + 𝐲 + 𝟏

𝟏

𝟎

𝐝𝐲

𝟏

𝟎

𝐝𝐱]

𝐱+𝐲+𝟏=𝐦

+∫∫
𝐲𝐥𝐧(𝐱 + 𝐲)

𝐱 + 𝐲

𝟏

𝟎

𝐝𝐲

𝟏

𝟎

𝐝𝐱]

𝐱+𝐲=𝐦

= ∫ ∫
𝐥𝐧(𝐦)

𝐦

𝐱+𝟐

𝐱+𝟏

𝐝𝐦

𝟏

𝟎

𝐝𝐱 −∫ ∫
(𝐦 − 𝟏 − 𝐱)𝐥𝐧(𝐦)

𝐦

𝐱+𝟐

𝐱+𝟏

𝐝𝐦

𝟏

𝟎

𝐝𝐱

+ ∫ ∫
(𝐦− 𝐱)𝐥𝐧(𝐦)

𝐦

𝐱+𝟏

𝐱

𝐝𝐦

𝟏

𝟎

𝐝𝐱 

= ∫ ∫
𝐥𝐧(𝐦)

𝐦

𝐱+𝟐

𝐱+𝟏

𝐝𝐦

𝟏

𝟎

𝐝𝐱 −∫ ∫ 𝐥𝐧(𝐦)

𝐱+𝟐

𝐱+𝟏

𝐝𝐦

𝟏

𝟎

𝐝𝐱 +∫ ∫
𝐥𝐧(𝐦)

𝐦

𝐱+𝟐

𝐱+𝟏

𝐝𝐦

𝟏

𝟎

𝐝𝐱 +∫𝐱 ∫
𝐥𝐧(𝐦)

𝐦

𝐱+𝟐

𝐱+𝟏

𝐝𝐦

𝟏

𝟎

𝐝𝐱

+ ∫ ∫ 𝐥𝐧(𝐦)

𝐱+𝟏

𝐱

𝐝𝐦

𝟏

𝟎

𝐝𝐱 − ∫𝐱 ∫
𝐥𝐧(𝐦)

𝐦

𝐱+𝟏

𝐱

𝐝𝐦

𝟏

𝟎

𝐝𝐱 

= 𝟐∫ ∫
𝐥𝐧(𝐦)

𝐦

𝐱+𝟐

𝐱+𝟏

𝐝𝐦

𝟏

𝟎

𝐝𝐱 −∫ ∫ 𝐥𝐧(𝐦)

𝐱+𝟐

𝐱+𝟏

𝐝𝐦

𝟏

𝟎

𝐝𝐱 +∫𝐱 ∫
𝐥𝐧(𝐦)

𝐦

𝐱+𝟐

𝐱+𝟏

𝐝𝐦

𝟏

𝟎

𝐝𝐱 +∫ ∫ 𝐥𝐧(𝐦)

𝐱+𝟏

𝐱

𝐝𝐦

𝟏

𝟎

𝐝𝐱

− ∫𝐱 ∫
𝐥𝐧(𝐦)

𝐦

𝐱+𝟏

𝐱

𝐝𝐦

𝟏

𝟎

𝐝𝐱 

𝐈𝟏 = ∫ ∫
𝐥𝐧(𝐦)

𝐦

𝐱+𝟐

𝐱+𝟏

𝐝𝐦

𝟏

𝟎

𝐝𝐱
𝐈𝐁𝐏

=
∫
𝐥𝐧(𝐦)

𝐦

𝟑

𝟐

𝐝𝐦−∫
𝐱𝐥𝐧(𝐱 + 𝟐)

𝐱 + 𝟐

𝟏

𝟎

𝐝𝐱 +∫
𝐱𝐥𝐧(𝐱 + 𝟏)

𝐱 + 𝟏

𝟏

𝟎

𝐝𝐱

=
𝟑

𝟐
𝐥𝐧𝟐(𝟑) − 𝟐 𝐥𝐧𝟐(𝟐) − 𝟑 𝐥𝐧(𝟑) + 𝟒 𝐥𝐧(𝟐) 

𝐈𝟐 = ∫ ∫ 𝐥𝐧(𝐦)

𝐱+𝟐

𝐱+𝟏

𝐝𝐦

𝟏

𝟎

𝐝𝐱
𝐈𝐁𝐏

=
∫𝐥𝐧(𝐦)

𝟑

𝟐

𝐝𝐦−∫𝐱𝐥𝐧(𝐱 + 𝟐)

𝟏

𝟎

𝐝𝐱 +∫𝐱𝐥𝐧(𝐱 + 𝟏)

𝟏

𝟎

𝐝𝐱

=
𝟗

𝟐
𝐥𝐧(𝟑) − 𝟒 𝐥𝐧(𝟐) −

𝟑

𝟐
 

𝐈𝟑 = ∫𝐱 ∫
𝐥𝐧(𝐦)

𝐦

𝐱+𝟐

𝐱+𝟏

𝐝𝐦

𝟏

𝟎

𝐝𝐱
𝐈𝐁𝐏

=

𝟏

𝟐
∫
𝐥𝐧(𝐦)

𝐦

𝟑

𝟐

𝐝𝐦−
𝟏

𝟐
∫
𝐱𝟐 𝐥𝐧(𝐱 + 𝟐)

𝐱 + 𝟐

𝟏

𝟎

𝐝𝐱 +
𝟏

𝟐
∫
𝐱𝟐 𝐥𝐧(𝐱 + 𝟏)

𝐱 + 𝟏

𝟏

𝟎

𝐝𝐱

= −
𝟑

𝟒
𝐥𝐧𝟐(𝟑) + 𝐥𝐧𝟐(𝟐) +

𝟏𝟓

𝟒
𝐥𝐧(𝟑) − 𝟒 𝐥𝐧(𝟐) −

𝟑

𝟒
 



 

𝐈𝟒 = ∫∫ 𝐥𝐧(𝐦)

𝐱+𝟏

𝐱

𝐝𝐦

𝟏

𝟎

𝐝𝐱
𝐈𝐁𝐏

=
∫𝐥𝐧(𝐦)

𝟐

𝟏

𝐝𝐦−∫𝐱𝐥𝐧(𝐱 + 𝟏)

𝟏

𝟎

𝐝𝐱 +∫𝐱𝐥𝐧(𝐱)

𝟏

𝟎

𝐝𝐱 = 𝟐 𝐥𝐧(𝟐) −
𝟑

𝟐
 

𝐈𝟓 = ∫𝐱 ∫
𝐥𝐧(𝐦)

𝐦

𝐱+𝟏

𝐱

𝐝𝐦

𝟏

𝟎

𝐝𝐱
𝐈𝐁𝐏

=

𝟏

𝟐
∫
𝐥𝐧(𝐦)

𝐦

𝟐

𝟏

𝐝𝐦−
𝟏

𝟐
∫
𝐱𝟐 𝐥𝐧(𝐱 + 𝟏)

𝐱 + 𝟏

𝟏

𝟎

𝐝𝐱 +
𝟏

𝟐
∫
𝐱𝟐 𝐥𝐧(𝐱)

𝐱

𝟏

𝟎

𝐝𝐱

= 𝐥𝐧(𝟐) −
𝟑

𝟒
 

𝐈 = 𝟐𝐈𝟏 − 𝐈𝟐 + 𝐈𝟑 + 𝐈𝟒 − 𝐈𝟓 = 𝟗 𝐥𝐧(𝟐) −
𝟐𝟕

𝟒
𝐥𝐧(𝟑) − 𝟑 𝐥𝐧𝟐(𝟐) +

𝟗

𝟒
𝐥𝐧𝟐(𝟑) 

 


